RD SHARMA

Solutions
Class 9 Maths

Chapter 3
Ex 3.1



1. Simplify each of the following:
(i) V4 x V16
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(Note: Ya x Vb = Ya x b)
=4 x 16

=64
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C1a(g ]
=15(4 x 1)
=15

2. Simplify the following expressions:
() @ +7)(3 +\2)

(i) 3 + V3)(5-\2)

(iii) (V5—2)(V3=+5)

Solution:



(i) @ +\7)(3 +\2)
=12+4\V2+3VT +VT x 2
=12+ 4\2+3\7 + 14

(i) 3 +\3)(5-2)
=15-3V2+5\V3 -3 x 2
=15-3V2+5V3 -6
(iii) (V5—2)(V3=1/5)
=V15-V25-2V3 + 275
=V15-V5 x5-2V3 + 25
=V15-5-2V3 + 23
3. Simplify the following expressions:
(i) (11 +N11)a1 - \11)
i) (547 )(5 - \7)
iil) (V8—2) (V8 +12)
iv) (3 +3)(3-3)
v) (V5=2)(\3 +12)
Solution:
(i) (11 +V11) (11 - V11)
As we know, (a +b) (a - b) = (a”—=b?)
So, 112 - 11
121-11=110
(ii) (5 +V7) (5-7)
As we know, (a +b) (a - b) = (a>—b?)
So, 52-7
25-7=18
(iii) (V8=2) (V8 +2)
As we know, (a +b) (a - b) = (a>—b?)
V8 x 8—V2 x2=8-2
=6
(iv) 3 +\3) (3 -\3)
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As we know, (a +b) (a - b) = (a>—b?)
=9-V3x3

=6

(v) (V5=2) (V5 +\2)

As we know, (a +b) (a - b) = (a>—b?)
=\5 x5-\2 %2

=5-2

=3

4. Simplify the following expressions:
(i) (V3 +7)?

(ii) (V5 — \3)?

(iii) (2V5 + 3\2)?

Solution:

() (V3 +7)?

Aswe know, (a+h)?=(a’>+2 xaxb+b?)

=32+ 23 \Bx TP
=3+2x\3X7+7
=10+2 x\21

(i) (V5=3)?

As we know, (a-b) % = (a’>—2 x a x b+ b?)

(iii) (2V5 + 312)?

Aswe know, (a+h)?=(@>+2xaxb+b?)
=45 X 5+2x2V5 x 32+ 9\2 x 2

=20+ 12710 +18
=28+ 12V10



